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0 <AL <_1 73 46 36 72 43 36 306 = 96.9 %
1<AL<2| 24 38 14 28 20 25 149 X 2.1 %
2<ALK<3 9 16 9 16 T 3 60 = 1.2 %
J<AL<HY 2 T 0 3 5 4 21 | 3.9 %
AL>14 0 0 0 0 2 0 2 A 0.3 %
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BEOHM | A-A{B-B|C-C|A-B|B-C|A-C it
0 <ACK< 40 46 29 53 22 30 220 = 40.9 %
1 <AC<2 35 34 18 40 21 16 170 = 31.6 %
2<ACKS 14 13 8 13 19 11 78 = 14.5 %
3<AC<AY 14 13 4 11 5 7 54 /A 10.0 %
4 <AC<SH 3 4 0 3 0 0 10 & 1.9 %
AC>5 2 3 0 1 0 0 6 &= .1 %
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HEOHME | A-A|B-B|C-C|A-B|B-C|A-C it

0 <AH<1 61 43 38 32 24 15 213 & 39.7T%
1 <AH<2 31 34 15 36 18 10 144 £ 26.8 %
2<AH<3 13 14 5 25 15 13 85 = 15.8 %
3<AH<14 2 8 1 17 8 5 41 7.6 %
4 <AH<5 1 4 1 7 7 6 26 =< 4.6 %

AH>5 0 10 0 4 7 8 29 R 5.4 %
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